PewweHne ABOUHbBIX
HepaBeHCTB

C NMoMoLLbO CUCTEM
HepaBEeHCTB



*CBOMCTBa HEPABEHCTB

*MHoxecTBa (06beanHeHe,

nepeceyeHue) - 3agaHMe Ha
AOCKe (3anucaTb B BUAe
NPOMEXYTKA, 3anMcaTtb
nepecevyeHme NpPoMexyTKoB)

*PelleHre cuctem
HepaBeHCTB (Ne 4.8 a,06)






" S
CamocTtoATesnibHas pa60Ta.
1) PeluMTe HepaBEHCTBO:

a)4 +12x > 7+13¥x; a)7-4x < 6x-23;
A) -(2-3x)+4(6+x) >1; 6) -(4-5x)+2(3+x) < 2;
2) PelunTe cucteMmy HepaBeHCTB:
P {L5x2—3 —4x>16
—6x>—12 “ {O,2x<2
b){?;x—2<],5x+1 b){BX—Z > x4+ 4
4-2x>x-2 Xx—4>6x+3
3) PelumTe ABOMHOE HEpPABEHCTBO:
a)-1 <6x <2; a)-1<5bx<1;
4x+3
6) , 5X+2_, 0) 2«< <3

4



*Ne 4.15-4.17 (B,r) - 6a30BbIi
*4.18(6)
*4.19(6)

*UnameuayansHo Ne 4.20(8,r),
4.23(B)

* loMallHee 3ajaHue



nacmMb6o Ham 3a paboTy



